980578

/

NSP 270 4LSK88

e

18.05.2020 /




A
) 2l 10x
= .
111102 112 190 M1 174
c M6 x 10 T3 M6 x 11 mm T6
", 2hx 22x 16 B
111103 12 616 121181
3,5 x 35 mm G"’ ML x 9 mm GB K1
12 8x | @ 8x | b/ Lx
121375 11229 111015 117 001
KZ1 SEm G Ly o SPT5 L7 D
L2Lmm
2 X @ﬁw 12X 1X 2 [F X N% 1)( 0 —
12 403 121370 121120 11610 111052 ;
' 10 mm ;
: 7 x 2x =y
- @ 20 mm ;7
@i@’- L29x500x18 B %%%:7
1317x560x15 873x54:0x18 | | =5
— . L -'”LFX@ L0 mm ;7
Lx(p) L39%168x15 =
B 2@+2Q | P =
= : i 573500418 1316x33x15 =
1317x560x15

206Lx560x15

2001x560x

2064 x560x15

206Lx560x15

837TxL39x15

15
/ Lx /
/%
@ @ : @ 8572xL39x2 .5

(]

2021x439%15  2021x439x15

2015x882x2,5

2015xL38x2 .5

980578

18.05.2020 /




121375

0520 3/30

18.05.2020 /

980578




121375

0520 4/30

18.05.2020 /

980578




111103

980578

18.05.2020 /

0520]5/30




928mm

—_
=

9728mm

—_—
—

120mm

\ 112 268

. . /.
P4 §§ A88mm
' y
)
928mm
M &
o y
i
928mm
<
M &
' y
< )
120mm
¥
980578 18.05.2020 / 0520]6/30




72,5mm

672mm

512mm

672mm

@ F

111229

111102

112 268

980578

18.05.2020 /

05 20

1/30




10

172mm

898,5mm

112 190

112 616

980578

18.05.2020 /

05 20

8/30




1

111102

D)
/o

%
112 268

M &

M %

72,5mm

672mm

512mm
M % X{
[
672mm
M
& |
72 5mm
A
980578 18.05.2020 / 0520]9/30




17

\

ks

7/

w

898, 5mm

NS o

111229

112 190

112 616

\.

980578

18.05.2020 /

05 20

10/30




13 AM

‘éﬂ
112 268

111235

#
[ . Mf& |
: @ 88mm
l . |
- 672mm
M%
i , |
I |
- 512mm
& &
i |
i M M |
- 672mm
”
M » |
F3 ! ’
120mm 1 _r -
| i

980578 | 18.05.2020 / 05 20 |11/30




14

1772mm

946mm

/

/

112 616

. ) §k
)
LN 172mm
.o [
‘ )
3
9L6mm
%
¥
980578 18.05.2020 / 0520 [12/30




J1

111174

M6 x 11 mm

980578

18.05.2020 /

05 20

13/30




17

111174

M6 x 11 mm

121181

18

980578

18.05.2020 /

05 20

14/3(




111174

M6 x 11'm

|

121181

980578

18.05.2020 /




™

- \%
—— 7L

J’lMémem T6

12118

980578

18.05.2020 /

05 20 [16/30




111174

M6 x 11 mm T6

121181

M6 x 11 mm T6

121181

980578

18.05.2020 /

0520 |17/30




o &
¢ ”w
111174

J’lMéme T6

121181

980578

18.05.2020 /

05 20 |18/30




05 20 |19/30

@1

121370

18.05.2020 /

K’l 3,5 x 15 mm

Y

17001

980578




SP13

980578

18.05.2020 /

05 20

20/3(




30

N

35x 15 mm G1
% L2Lmm
121370 12 403

K21

980578 | 18.05.2020 /

05 20

21/30




980578

18.05.2020 /

05 20

2/30)




980578

18.05.2020 /

23/30




980578 | 18.05.2020 /

0520 P4 /30




34

980578

18.05.2020 /

05 20

25/3()




35

@)
f

P

980578

18.05.2020 /

05 20

26/30




36

36 A

222222

36B

) 27mSmP27 &

980578

18.05.2020 /

05 20 P7/34



37

SP15
L X 15mm

111052

N gjfzﬁ%m
Y

980578

18.05.2020 /

05 20 p8/30




